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Partl (EHHHFM3 5 @ E:§)

The F1 from a cross of 4B/4B x ab/ab is test-crossed, resulting in the following phenotypic
rations:

AB 122 aB 195
Ab 165 ab 118
1 What is the frequency of recombination between genes @ and 5? {a) 0.3 (b) 0.4 (c)

0.5 (d)0.6.

A man has a Y-lined disorder and married to a normal healthy woman. Consider questions
2-4:
What 1s the probability for him havingason? (2)1 (b)0.5 (c)0.25 (d)0.
What is the probability for him having an affected daughter? (a) 1 (b) 0.5 (c) 0.25
(d) 0. '

4.  What is the probability for him having an affected son? (a)1 () 0.5 (c)0.25 (d)
0.

In a population study, heterozygosity of Loci A and B are 0.15 and 0.20, respectively.
Consider questions 5-7:

5. What is the probability that an individual is heterozygote at both loci? (a) 0.35 (b)
0.03 (c)0.05 (d)0.32.

6. What is the probability that an individnal is at least heterozygote at one locus? (a} 0.35
(b)0.03 (c)0.05 (d)0.32.

7. How many individuals do we need to screen in order to obtain 100 people are
heterozygote for at least one locus (2) 633 (b) 525 (c) 312 (d) 446.

A normal chromosome has the gene sequence as ABCD * EFGH where the “ * ” in between
two blocks of genes indicate centromere region. Determine the chromosomal mutation
illustrated by each of the following chromosomes (questions 8-11).

8. ABD *EFGH (a) deletion (b} duplication (c) inversion (d) translocation.

- ABCFE * DGH (a) deletion (b) duplication (c) inversion (d) translocation.

10. ABCD * EFEFGH (a) deletion (b) duplication (c) inversion (d) translocation.

1. 4D * EFBCGH (a) deletion  (b) duplication (c) inversion (d) translocation.
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In human the three alleles 7, 7, and i constitute a multiple allelic series that determine the
ABO blood group system. A woman of blood group AB marries a man of blood group
A whose father was group O. Consider questions 12 and 13:

12, What 1s the probabtlity that one child will be group B and the other group 0? (a) 0 (b)
1714 (c) 1/8 {d) 1/64.

13. What is the probability that the first child wili be 2 son of group AB and their second
child a son of group B? (a) 0 (b) 1/4 (c) 1/8 (d) 1/64.
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